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QUESTION 1
Which errorlog code indicates a message is reporting a stopped thread?
A E

B.F

E.N

Correct Answer: D

QUESTION 2

Which of the following commands can be used to indicate that the RepAgent is running in the primary database?

(Choose 3)

A. Sp_who

B. Admin who

C. Sp_help_rep_agent
D. Admin who, sqm

E. Sp_helpdb

Correct Answer: ABC

QUESTION 3

A Route between two Replication Servers represents? (Choose 2)

A. One way data flow.

B. A connection between a Replication Server and a replicate dataserver.

C. One outbound queue that can map to several Replication Server system queues.
D. A connection between a Replication Server and a primary dataserver.

Correct Answer: AC
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QUESTION 4

The Stable Device

A. Must be a raw partition.

B. Consists of two queues, one inbound and one outbound.
C. Is cleared of transactions at each shutdown.

D. Includes a queue for subscription materialization.

Correct Answer: D

QUESTION 5

Which of the following thread types is responsible for serializing transactions?
A. DIST

B. DSI

C. RSI

D. SQM

E. SQT

Correct Answer: E
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